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General Instructions to the Candidate : 

 

1.  This question paper consists of 38 questions. 

2. Follow the instructions given against the questions. 

3.  Figures in the right hand margin indicate maximum marks for the questions. 

4. The maximum time to answer the paper is given at the top of the question paper. 

It includes 15 minutes for reading the question paper. 
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I. Four choices are given for each of the following questions / incomplete 

statements. Choose the correct answer and write the complete answer 

along with its letter of alphabet. 8 × 1 = 8 

 

1. The Governor General who integrated Punjab into the British Empire was 

 (A) Wellesley 

 (B) Dalhousie 

 (C) Cornwallis 

 (D) Warren Hastings 

2. Government of India Act of 1935 acted as the base for the formation of the 

Constitution of India because 

 (A) it formed a federal system 

 (B) it created a separate electoral college 

 (C) it established Dyarchy at provinces 

 (D) it promised to improve local self governments 

3. India is now recognised as the fifth largest economic power in the world, 

because of its 

 (A) policy of non-alignment 

 (B) globalization and liberalisation policy adopted in 1991 

 (C) support for disarmament 

 (D) opposition to imperialism 
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4. According to Citizens Rights Protection Act of 1976 

 (A) practice of untouchability is a punishable offence 

 (B) special responsibilities to the state government to practise 

untouchability 

 (C) universal voting powers to all 

 (D) right to equality to all citizens 

5. There was a protest against the MRPL to 

 (A) protect the environment by the chemical fumes from the oil refinery 

 (B) protest against the permission given to chop down the trees 

 (C) protest against the exploitation of women 

 (D) protest against the construction of dam across Narmada river 

6. The largest physiographic division of India is 

 (A) Norther great plains 

 (B) Peninsular plateaus 

 (C) Himalayan mountains 

 (D) Coastal plains and islands 

7. The income and wealth of the country should be distributed equally to all 

without any discrimination. It is  

 (A) Social justice (B) Political justice 

 (C) Secular justice (D) Judicial justice 
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8. Suhas bought an LED TV for Rs. 68,000 from a shop but within the 

warranty period it stopped working. The shopkeeper did not respond for 

the warranty and complaint. Now Suhas has to file a complaint at  

 (A) District Commission 

 (B) State Commission 

 (C) Taluk Commision 

 (D) National Commission 

II. Answer the following questions in a sentence each :  8 × 1 = 8 

9. Maintenance of army became easy for the English by subsidiary alliance. 

How ? 

10. Why did Adolf Hitler organise an outfit called brown shirts ? 

11. What is the main reason for sub-regionalism ? 

12. What is prejudice ? 

13. Which metal is known as wonder metal of 20th century ? 

14. Why is petroleum called liquid gold ? 

15. Give two examples for direct tax. 

16. Who is an entrepreneur ? 

Re-uploaded at Learnmate 



85-E  5  

  [ Turn over 

III. Answer the following questions in two to four sentences / points each : 

    8 × 2 = 16 

17. Mention the armed forces of the Central Government which maintains law 

and order. 

OR 

 Mention the steps taken by India to tackle the challenge of terrorism. 

18. What are the ill effects of the dowry system ? 

OR 

 What are the causes for child labour ? 

19. What are the contributions of Sree Narayana Guru Dharma Paripalana 

Yogam ? 

20. Formation of Andhra Pradesh based on language was inevitable to the 

Indian Government. Why ? 

21. Explain how forest plays an important role in the life of humans.  

22. Indian agriculture is gambling with monsoon winds. Justify. 

23. Write the importance of public finance. 

24. Why is March 15 celebrated as World Consumers Day ? 
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IV. Answer the following questions in six sentences / points each : 9 × 3 = 27 

25. Explain the role of Annie Besant in social reformation movement and 

Indian freedom struggle. 

OR 

 Explain the role of Bal Gangadhar Tilak in the freedom struggle. 

26. What are the uses of GPS ? 

OR 

 What are the effects of cyclones ? 

27. Justify how India achieved overall development during 5 year plans. 

OR 

 Justify how Panchayat Raj institutions play a prominent role in the rural 

development. 

28. Having a Bank Account is advantageous. How ? 

OR 

 Entrepreneurs play an important role in the country’s economy. How ? 

29. Differentiate between the Permanent Zamindari system and the Ryotwari 

system. 
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30. Battle of Plassey was the first step to the British to establish their power in 

India. Substantiate the statement. 

31. The Indian Government has taken many measures to eradicate gender 

discrimination. Justify this statement. 

32. How are organised workers different from unorganised workers ? 

33. Conservation of soil is essential. Why ? 

V. Answer the following questions in about eight sentences / points each : 

    4 × 4 = 16 

34. Explain the economic and military causes for the first war of Indian 

Independence. 

OR 

 Explain how the British utilised the resources of India during World War II. 

35. Write the contributions of Krishna Raj Wodeyar IV in framing Mysore as a 

model state. 

36. List out the achievements of UNO. 

37. How is red soil different from black soil ? 
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VI. 38. In the outline map of India provided to you mark any five among the 

following : 1 × 5 = 5 

a) Lal Bahadur Shastri reservoir 

b) Ahmedabad  

c) 82°30 l  East longitude 

d) Visakhapatnam 

e) Oldest Port of India 

f) Burnpur 

g) Gowahati 

Alternative Question for Visually impaired Candidates only : 

( In lieu of Q. No. 38 ) 5 

What are the main objectives of multipurpose river valley projects ? 
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General Instructions to the Candidate : 

 

1.  This question paper consists of 38 questions. 

2. Follow the instructions given against the questions. 

3.  Figures in the right hand margin indicate maximum marks for the questions. 
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I. Four choices are given for each of the following questions / incomplete 

statements. Choose the correct answer and write the complete answer 

along with its letter of alphabet. 8 × 1 = 8 

 

1. The Ryothwari system was implemented by  

 (A) Alexander Reed 

 (B) Cornwallis 

 (C) James Thomson 

 (D) R.M. Bird 

2. The main objective for appointing Hunter Commission is  

 (A) to enquire into the Chauri-Chaura incident 

 (B) to enquire into the Jallianwala Bagh tragedy 

 (C) to mark the boundaries of India and Pakistan 

 (D) to give dominion status to India 

3. Petroleum is called liquid gold because it is 

 (A) multi-used power resource 

 (B) highly exported 

 (C) most adulterated resource 

 (D) used in peace and war period 
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4. The father of Public Administration is 

 (A) F. M. Marks (B) Luther Gullick 

 (C) Woodrow Wilson (D) Piffner 

5. The article of our constitution that prohibits the practice of untouchability 

is 

 (A) 14 (B) 17 

 (C) 24 (D) 29 

6. Prohibition of Prenatal Gender Determination Act was enacted in the year 

 (A) 1992 (B) 1993 

 (C) 1986 (D) 1994 

7. The solution taken by the Government of India to solve drought in 1965-66 

was  

 (A) introduction of high yielding variety seeds of wheat 

 (B) announcement of subsidy for farmers 

 (C) introduction of supporting prices for paddy 

 (D) formation of NITI Ayaog 

Re-uploaded at Learnmate 



85-E  4  

   

8. Yashas bought Dosa from Swiggy. The type of marketing system he used is 

 (A) Wholesale (B) Import 

 (C) Teleshopping (D) Export 

II. Answer the following questions in a sentence each :  8 × 1 = 8 

9. Why did the British shift Chennamma to Kusugal prison from 

Bylahongala ? 

10. What was the main objective of the Charter Acts ? 

11. Why should we grow Mangrove forests along the coasts ? 

12. What is the objective of the National Power Grid ? 

13. What is recruitment ? 

14. Dowry is the cause for gender discrimination. Justify. 

15. Public expenditure is increasing nowadays. Why ? 

16. Why were District Industrial Centres established ? 
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III. Answer the following questions in two to four sentences / points each : 

    8 × 2 = 16 

17. How was Goa liberated from the Portuguese ? 

18. What were the features of Fascism ? 

19. List out the raw materials used in the Paper industries. 

20. The Southwest Monsoon wind starts receding from October. Why ? 

21. Self-help groups are playing a vital role in rural areas. How ? 

22. Mention the objectives of the Consumer Protection Act. 

23. UPSC plays a great role in the system of public administration. justify. 

OR 

 India is committed to the policy of no first use of Atomic ammunition. 

Justify. 

Re-uploaded at Learnmate 



85-E  6  

   

24. Explain briefly about the Chipko movement. 

OR 

 Explain briefly the causes for child marriage. 

IV. Answer the following questions in six sentences / points each : 9 × 3 = 27 

25. Mention the reforms of the Satyashodhak Samaj. 

26. What were the effects of the Battle of Buxar ? 

27. The Government of India is struggling hard to eradicate illiteracy. Justify. 

28. What are the problems faced by the unorganised sector workers ? 

29. Name the Eastern Coastal ports of India. 

30. Explain the conditions of subsidiary alliance. 

OR 

 Explain the achievements of Krishnaraja Wodeyar IV. 
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31. How can we prevent soil erosion ? 

OR 

 How is agriculture playing an important role in the economic development 

of India ? 

32. How is the Government striving hard to develop Indian Agriculture. 

OR 

 How are direct taxes different from indirect taxes ? 

33. What are the advantages of opening a bank account ? 

OR 

 What are the characteristics of an entrepreneur ? 

V. Answer the following questions in about eight sentences / points each : 

    4 × 4 = 16 

34. The role of Subhash Chandra Bose is an important milestone in the Indian 

Freedom struggle. Justify. 

35. Explain the importance of forest. 
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36. Explain the structure and functions of the Security Council of UNO. 

37. Explain the effects of the British education on Indians. 

OR 

 Explain the effects of the first war of Indian Independence. 

VI. 38. In the outline map of India provided to you mark any five among the 

following : 1 × 5 = 5 

a) 82°30 l  East longitude 

b) Indira Point 

c) Bhakra Nangal 

d) Lathur 

e) Kanyakumari 

f) Our North-West neighbouring country 

g) Tea Port of India 

Alternative Question for Visually impaired Candidates only : 

( In lieu of Q. No. 38 ) 5 

Explain how the Himalayan mountains are helpful for Indians. 
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I. Four choices are given for each of the following questions / incomplete 

statements. Choose the correct answer and write the complete answer 

along with its letter of alphabet. 8 × 1 = 8 

 

1. Back to Vedas was declared by  

 (A) Atmaram Pandurang 

 (B) Dayanand Saraswati 

 (C) Swami Vivekananda 

 (D) Raja Rammohan Roy 

2. The correct group of countries that form a triple entity pact is 

 (A) Britain, France, Russia 

 (B) Germany, Austria, Hungary, Italy 

 (C) Italy, France, Russia 

 (D) Germany, Austria, Hungary, France 

3. The agency of UNO which won the Nobel peace prize is 

 (A) WHO (B) UNESCO 

 (C) FAO (D) UNICEF 
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4. The leader who led The Narmada Bachao Andolan is 

 (A) Sundarlal Bahuguna 

 (B) Chandi Prasad Bhatt 

 (C) Shivram Karant 

 (D) Medha Patkar 

5. Cyclone occurs in the Bay of Bengal during retreating monsoon due to  

 (A) the differences in temperature and pressure of land and sea areas 

 (B) the direct rays of the sun falling over the northern hemisphere 

increases the temperature 

 (C) these regions are at high altitude above the sea level 

 (D) North India is away from the sea 

6. The best example for organised workers sector is 

 (A) Housekeepers 

 (B) Agriculture labourers 

 (C) Government officials 

 (D) Hawkers and peddlers 
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7. The system started in India in the view of administrative decentralization 

is 

 (A) Panchayat Raj 

 (B) Stree Shakti 

 (C) NAREGA 

 (D) Consumer Courts 

8. The Chairman of the District Consumer Forum will be 

 (A) District Judge 

 (B) District Commissioner 

 (C) Chairman of Consumer Court 

 (D) Chief Justice of the State 

II. Answer the following questions in a sentence each :  8 × 1 = 8 

9. Why did Swami Vivekananda start the Ramakrishna Mission ? 

10. What was the objective of appointing Goebels a special minister by Hitler ? 

11. Why was UN Trusteeship Council established ? 

12. What is social stratification ? 
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13. Which area receives the lowest recorded rainfall in India ? 

14. What is rural development ? 

15. Why is March 15th observed as the World Consumers’ Day ? 

16. Which metal is used as the universal standard of monetary value ? 

III. Answer the following questions in two to four sentences / points each : 

    8 × 2 = 16 

17. Which are the factors that create unemployment in India ? 

OR 

 What are the effects of child marriage ? 

18. What is the role of government in maintaining law and order ? 

OR 

 What are the measures taken by the government to bring literacy in India ? 

19. Which factors made Europeans to discover new sea route to India ? 

20. Subsidiary alliance made the native rulers powerless. How ? 

21. What are the effects of soil erosion ? 

22. How can we conserve forests ? 
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23. How are direct taxes different from indirect taxes ? 

24. Explain how the saving bank account is different from current bank 

account. 

IV. Answer the following questions in six sentences / points each : 9 × 3 = 27 

25. Explain the factors of Rythwari system. 

OR 

 Explain the revolt of Sangolli Rayanna against British. 

26. How did Five-Year Plans support the development of India ? 

OR 

 How do women become the cause for the rural development ? 

27. How are banks helpful to consumers ? 

OR 

 How do entrepreneurs interact in the country’s economy ? 

28. Which are the factors helpful for the localisastion of industries ? 

OR 

 Which are the industrial regions of India ? 
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29. What are the contributions of Dayanand Saraswati and Raja Rammohan 

Roy for the socio-religious reform movement in India ? 

30. What are the causes for the failure of first war of Indian independence ? 

31. India has taken firm steps in controlling terrorism. Justify. 

32. What are the measures taken by the Government to control social 

stratification in India ? 

33. How is road transport more important than any other mode of transport in 

India ? 

V. Answer the following questions in about eight sentences / points each : 

    4 × 4 = 16 

34. Explain the impact of British education in India. 

OR 

 Explain the process of merger of Jammu and Kashmir to Indian Union. 

35. What is the role of extremist in the freedom movement of India ? 

36. Which are the factors that decide the cropping pattern ? 

37. What are the measures taken by the government to solve gender 

discrimination ? 
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VI. 38. In the outline map of India provided to you mark any five among the 

following :  1 × 5 = 5 

a) Nagarjuna Sagar 

b) Rajiv Gandhi International Airport 

c) Coromandel Coast 

d) Vindhya Mountains 

e) Palk Strait 

f) Utkal Coast 

g) Gateway of India 

Alternative Question for Visually impaired Candidates only : 

( In lieu of Q. No. 38 ) 5 

What are the objectives of multipurpose river valley projects ? 
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I. Four choices are given for each of the following questions / incomplete 

statements. Choose the correct answer and write the complete answer 

along with its letter of alphabet. 8 × 1 = 8 

 

1. The major effect of the First War of Indian Independence was  

 (A) The rule of East India Company was ended 

 (B) Supreme Court was established in Calcutta 

 (C) Jhansi became an independent state 

 (D) Nanasaheb was given pension 

2. Hiroshima and Nagasaki cities are in 

 (A) United States of America 

 (B) Germany 

 (C) Japan 

 (D) Poland 

3. The headquarters of UNO is in 

 (A) Rome (B) Paris 

 (C) Geneva (D) New York 
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4. “Truly, the whole mankind is one” is declared by 

 (A) Mahatma Gandhiji (B) Pampa 

 (C) Jyotibha Phule (D) Basavanna 

5. Silicon Valley of India is in 

 (A) Karnataka (B) Maharashtra 

 (C) Gujarat (D) Kerala 

6. The city called as ‘Manchester of India’ is 

 (A) Davanagere (B) Coimbatore 

 (C) Mumbai (D) Indore 

7. The financial year in India starts from  

 (A) April 1st (B) June 5th 

 (C) November 1st (D) March 1st 

8. In India the District Industrial Centres were started in the year 

 (A) 1947 (B) 1954 

 (C) 1966 (D) 1978 
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II. Answer the following questions in a sentence each :  8 × 1 = 8 

9. Who was the first President of India ? 

10. Name the fascist dictator of Italy. 

11. Why was the Trusteeship Council established ? 

12. Which article of our constitution prohibits the practice of untouchability ? 

13. What is the reason for low temperature during the winter season in India ? 

14. Where was the first paper industry of India established ? 

15. What is decentralisation of power ? 

16. Who is called a provider ? 

III. Answer the following questions in two to four sentences / points each : 

    8 × 2 = 16 

17. Explain the functions of Union Public Service Commission. 

OR 

 Explain the objectives of Food and Agricultural Organisation. 

18. Mention the nature of riots. 

OR 

 Mention the ill-effects of dowry. 
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19. Annie Besant gave a new vitality to the activities of Theosophical Society. 

How ? 

20. How was Junagadh merged into Indian Union ? 

21. Write a short note on the islands of India. 

22. Explain the geographical factors essential for the cultivation of wheat. 

23. The gap between urban and rural areas is increasing. Why ? 

24. What are the reasons for the exploitation of consumers ? 

IV. Answer the following questions in six sentences / points each : 9 × 3 = 27 

25. Explain the Second Carnatic War. 

OR 

 Explain the economic causes for the First War of Indian Independence. 

26. How is Black soil different from Laterite soil ? 

OR 

 How are Evergreen forests different from Deciduous monsoon forests ? 

27. Explain the achievements of Five-Year plans. 

OR 

 Explain the significance of Public Finance. 
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28. Mention the functions of banks. 

OR 

 Mention the functions of entrepreneurs. 

29. Police system underwent continuous changes during the British 

administration. How ? 

30. Explain the conditions of Subsidiary Alliance. 

31. Explain the basic principles of Indian Foreign Policy. 

32. Unemployment has become a serious social problem. How ? 

33. Analyse the importance of Remote Sensing Technology. 

V. Answer the following questions in about eight sentences / points each : 

    4 × 4 = 16 

34. “The struggle of Puttabasappa against the British is ever remembered.” 

Justify. 

OR 

 “Hitler’s ambition to popularise Aryan race became the cause for mass 

murders.” Justify. 

35. Explain the struggle of Santals against the British. 
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36. The Central and State Governments have taken several initiatives for the 

empowerment of gender minorities. Illustrate. 

37. What are the causes and effects of earthquakes ? 

VI. 38. In the outline map of India provided to you mark any five among the 

following : 1 × 5 = 5 

a) Torpic of Cancer 

b) Kosi project 

c) Kaiga 

d) Vishakhapatnam 

e) Gulf of mannar 

f) Upper Krishna project 

g) Gawahati 

Alternative Question for Visually impaired Candidates only : 

( In lieu of Q. No. 38 ) 5 

Explain how the Himalayan mountains helpful for Indians. 
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